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General Instructions :
Read the following instructions carefully and follow them :
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(iv)
v)
(vi)
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)
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This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Sections A, B, C, D and E.

In Section A — Questions no. 1 to 16 are Multiple Choice type questions. Each question
carries 1 mark.

In Section B — Questions no. 17 to 21 are Very Short Answer type questions. Each
question carries 2 marks.

In Section C — Questions no. 22 to 28 are Short Answer type questions. Each question
carries 3 marks.

In Section D — Questions no. 29 and 30 are case study-based questions. Each question
carries 4 marks.

In Section E — Questions no. 31 to 33 are Long Answer type questions. Each question
carries 5 marks.

There is no overall choice given in the question paper. However, an internal choice has
been provided in few questions in all the Sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired candidates.
Use of calculators is not allowed.
You may use the following values of physical constants wherever necessary :
c=3x10% m/s
h= 663 x 1074 Js
e=1-6x10"1C
Up=4mx 107 Tm A~

g0=8854x1012C2 N1 m™
1

47t80

Mass of electron (mg) = 9-1 x 10731 kg

=9x10° Nm? C2

Mass of neutron = 1-675 x 10727 kg
Mass of proton =1:673 x 10727 kg

023

Avogadro’s number = 6-023 x 1 per gram mole

Boltzmann constant = 1-38 x 10_23 JK_1
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SECTION A
1. The electric field E associated with an electromagnetic wave is represented by
Ey = E sin (kx — ot)
Which of the following statements is correct ?
(A)  The wave is propagating along +x-axis.
(B)  The wave is propagating along +z-axis.

%
(C)  The magnetic field B of the wave is acting along +y-axis.

%
(D)  The magnetic field B of the wave is acting along —x-axis.

2. A capacitor of 5 pF is connected to an ac source of 200 V, 0 Hz through a

resistor of 100 Q. The phase difference between the voltage (V) applied and
current (I) is :
(A) 120° (B) 90° (C) 60° (D) 45°

3. m, m, and m, represents masses of ZX nucleus, a neutron and a proton,

P
respectively. Then :
(A) m<(A—Z)mn+Zmp (B) mZ(A—Z)mn+Zmp
©) m=(A—Z)mp+Zmn (D) m>(A—Z)mn+Zmp
4. A rod PQ of resistance R lies across frictionless conducting rails in a constant

uniform magnetic field B , as shown in the figure. Assuming that the rails have
negligible_) resistance, the force required to pull the rod to the right at constant
velocity v 1is:

O 0 0 0 R
L — >V
OO ONOIIO,
v = |
X Q
A) 0 (B) Blv
Blv B212V
©) R (D) R
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5. When a ferromagnetic substance is heated to a temperature above its Curie
temperature, it will :

(A)  behave like a diamagnetic material.
(B)  behave like a paramagnetic material.
(C)  permanently demagnetise.

(D)  remain a ferromagnetic.

6. A point object is placed in air at a distance of 4R on the principal axis of a convex

spherical surface of radius of curvature R separating two mediums, air and glass.

As the object is moved towards the surface, the image formed is :
(A) always real

(B)  always virtual

(C)  first virtual and then real

(D) firstreal and then virtual

7. A current of 5 A is flowing in a wire of length 1.5 cm. A force of 7.5 mN acts on

it when it is placed in a uniform magnetic field of 0.2 T. The angle between the

magnetic field and the direction of current is :
(A) 30° (B) 45° (©) 60° (D) 90°

8. Two particles A and B of the same mass but having charges q and 4q respectively,

are accelerated from rest through different potential differences V 4 and Vg such

that they attain same kinetic energies. The value of V_A 1s
B

1 1
A - B - © 2 (D) 4
4 2
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11.

12.
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Which of the following statements is correct for alpha particle scattering
experiment ?

(A)  For angle of scattering 0 =~ 0, the impact parameter is small.

(B)  For angle of scattering 0 = =, the impact parameter is large.

(C)  The number of alpha particles undergoing head-on collision is small.

(D)  The experiment provides an estimate of the upper limit to the size of target

atom.

Which one of the given graphs correctly represents the variation of photoelectric

current with the intensity of incident radiation, keeping other parameters fixed ?
Current Current

(A) (B)

Intensity

7
v

Intensity

Current Current

(©) (D)
| Intensity |

When intrinsic silicon semiconductor is doped with Al atom, then it :

A\ 4
v

Intensity

(A)  decreases the number of holes in the conduction band.
(B) increases the number of holes in the valence band.
(C) increases the energy gap value.

(D)  increases the number of electrons in the valence band.

Two cells of emf 2 V and 3 V, and internal resistance 1 Q and 2 Q, respectively

are connected in parallel. The effective emf and internal resistance of the

combination cell are respectively :

A 3V,1Q (B) 5V,3Q
7 2 6 2
©) 3V, 30 (D) gV,gﬂ
9 P.T.O.
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Questions number 13 to 16 are Assertion (A) and Reason (R) type questions. Two
statements are given — one labelled Assertion (A) and the other labelled Reason (R).
Select the correct answer from the codes (A), (B), (C) and (D) as given below.

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Both Assertion (A) and Reason (R) are false.
13.  Assertion (A) : Although the surfaces of a goggle lens are curved, it does not

have any power.

Reason (R) : In case of goggles, both the curved surfaces are curved on the

same side and have equal radii of curvature.
14.  Assertion (A) : The current density (J ) at a point in a conducting wire is in the

%
direction of electric field ( E ) at that point.
Reason (R) : A conducting wire obeys Ohm’s law.

15.  Assertion (A) : Nuclear fission reactions are responsible for energy generation in

the Sun.

Reason (R) : Light nuclei fuse together in the nuclear fission reactions.

16.  Assertion (A) : The torque acting on a current carrying coil is maximum when it

is suspended in a radial magnetic field.

Reason (R) : The torque tends to rotate the coil on its own axis.

SECTION B

17.  Explain the terms depletion layer and potential barrier for a junction diode and

their formation. 2

18.  An electron is passing through a region and experiences no force. Under what
condition is it possible when the region has (a) only the magnetic field, and

(b) both the electric and the magnetic fields ? Justify your answers. 2
55/S/3 11 P.T.O.
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(a) A cell is connected across an external resistance 12 Q and supplies 0.25 A

current. When the external resistance is increased by 4 Q, the current
reduces to 0.2 A. Calculate (i) the emf, and (i1) the internal resistance, of
the cell. 2

OR

(b)  Two point charges of 3 nC and 4 pC are kept in air at (0-3 m, 0) and

(0, 0.3 m) in x-y plane. Find the magnitude and direction of the net electric

field produced at the origin (0, 0). 2
A point light source rests on the bottom of a bucket filled with a liquid of
refractive index p = 1.25 up to height of 10 cm. Calculate :
(a) the critical angle for liquid-air interface
(b)  radius of circular light patch formed on the surface by light emerging from

the source. 2
State Huygens principle. Using it draw a diagram showing the details of passage

of a plane wave from a denser into a rarer medium. 2

SECTION C

(a) The radius of a conducting wire AB uniformly decreases from its one end

A to another end B. It is connected across a battery. How will (1) electric
field, (ii) current density, and (iii) mobility of electrons change from end A

to end B ? Justify your answer in each case. 3
OR

(b) Two large plane sheets P; and P, having charge densities + ¢ and - 3 ©

respectively are arranged parallel to each other as shown in the figure. Find

%
the net electric field (E ) at points A, B and C. 3
: o ¥
Ij + :
A A + B — C
g I O I
| -
+ & 30
13 P.T.O.
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23.  Two point charges of 10 nC and 20 uC are located at points (— 4 cm, 0, 0) and

(5 cm, 0, 0) respectively, in a region with electric field E = EX where
r

A =2 x 105 NC! m? and Tis the position vector of the point under

consideration. Calculate the electrostatic potential energy of the system. 3

24.  Explain the following, giving proper reason : 3

(a) During charging of a capacitor, displacement current exists in the
capacitor. But there is no displacement current when it gets fully charged.

(b) The frequency of microwaves in ovens matches with the resonant
frequency of water molecules.

(©) Infrared waves are also known as heat waves.

25.  Radiations of frequency 3.0 x 101 Hz are incident on a photosensitive surface of
threshold frequency 1.0 x 101> Hz. Calculate : 3

(a)  work function of the surface

(b)  maximum kinetic energy of photoelectrons

26. A small circular loop of area 6 cm?

- is placed inside a long solenoid at its centre

such that its axis makes an angle of 60° with the axis of the solenoid. The number
of turns per cm is 10 in the solenoid. The current in the solenoid changes

uniformly from 5 A to zero in 10 ms. Calculate the emf induced in the loop. 3

27.  An ideal resistor R, an ideal inductor L and an ideal capacitor C are connected,

one by one, across the same source of ac voltage v = v, sin wt. It is observed that

the same current I flows in each case.

(a) What will be the instantaneous value of current that will flow through their
series combination when connected across the same source ?

(b)  How will the current in each case be affected if the frequency of the source
1s increased ?

Justify your answers. 3

28. (a) Draw the shape of intensity distribution curve of the fringes due to
diffraction at a single slit.

(b)  Derive the relation for the power of combination of two lenses placed in
contact co-axially. 3

55/S/3 15 P.T.O.
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SECTION D

Questions number 29 and 30 are case study-based questions. Read the following paragraphs

and answer the questions that follow.

29.  The process of converting ac into dc is called rectification and the device used is

called a rectifier. When ac signal is fed to a junction diode during positive half

cycle, the diode is forward biased and current flows through it. During the

negative half cycle, the diode is reverse biased and it does not conduct. Thus the

ac signal is rectified. The p-n junction diodes can be used as half-wave and

full-wave rectifiers.

(1) Which bulb/bulbs will glow in the given circuit ? 1
LA D, LA D,
™~ ™~

(E

B,

B, only

(D) Neither B nor B,

=9V
By
(A) Bjonly (B)
(C) BothB;andB,
(i)  (a)

A full-wave rectifier circuit is shown in the figure. The contribution

55/S/3

in output waveform from junction diode D is : 1
D
N
L1
II>{D2 R V0
(A) AD B) A,C
(©) B,D (D) B,C
OR
17 P.T.O.
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(iii)

(iv)

(b)  forelt aref i feperr s fFrfa g 2
(A) o 3ftfert o1 wanfefymn (B) TUrf IR wad

(C) 3fifemr o vy u iR (D) AT 3T 3redd

p-n €% ST H p-HeTeh T 3TN n-FeTeh T STgEEI ST ST 8 3 :
(A)  FARM, T (B) FIHM, B
(C) @, e (D) &, S

fe g feweprt 1 AT 50 Hz 8, @ qui-aT fewsht <t sargf g -
(A) 25Hz (B) 50Hz

(C) 100 Hz (D) 200 Hz

feeratt 1, =T o Syt & StoraT ek, SATeTaoreR ferer 3k faya st g
&, ST wiewr Uit € | A gt g qufehd o @HH AR forsTrdt et fogd feye s
fwfor sRLd €, STelfer hig aRETe! qTeT rerehid fSye shi Witd sHaer il & | foaea
foga s1om IRl ST forgrd-ao 3= hid € | forelt amer forega-ar # feord fopu ST W
forra faga sat-ATet 7 STwa L < |

(1)

1 et Fre Tl o, Rt s fe 1 0 gt & o — g i
+ q U ST €, x-y ql H 36 TehR A fordT T © fof §7eh sOTTalsT qed-foieg
O T & QT SIS shT: Tl (d, 0) 3 (0, d) T feorq € | 39 Fobrer o1 et
%%HHTS@%

(A)  —qd(i+]) B) qd(i+7)

© qd(i-7) D) qd(j-1)

18
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(b) The output in a half-wave rectifier is :
(A) unidirectional without ripple (B) steady and continuous

(C) unidirectional with ripple (D) steady but discontinuous

(111) In a p-n junction diode, the majority charge carriers on p-side and on
n-side are, respectively :
(A) electrons, electrons (B) electrons, holes
(C)  holes, holes (D) holes, electrons

(iv)  If the frequency of the half-wave rectifier is 50 Hz, the frequency of
full-wave rectifier is :
(A)  25Hz (B) 50Hz
(C) 100Hz (D) 200 Hz

Dipoles, whether electric or magnetic, are characterised by their dipole moments,
which are vector quantities. Two equal and opposite charges separated by a small
distance constitute an electric dipole, while a current carrying loop behaves as a
magnetic dipole. Electric dipoles create electric fields around them. Electric

dipoles experience a torque when placed in an external electric field.

(1) Two identical electric dipoles, each consisting of charges —q and +q
separated by distance d, are arranged in x-y plane such that their negative
charges lie at the origin O and positive charges lie at points (d, 0) and
(0, d) respectively. The net dipole moment of the system is :

(A —qd(i+)) B) qd(i+7)

© qd(i-}) D) qd(j-1)

19 P.T.O.



(i) 2a 30 & guferd quT - q AR + q AR & 7 forelt fgga o ror g
r (>> ) % (1) Torelt foreg ST Sereh et ot foret =, e (2) Toreft foreg T fergareli
qe o f¥orq €, T fore[a-ar o aiemor sheen: B 3R E, 1 ad [Ej e
Ey
1

1
A - B) - <€) 2 (D) 4
4 2

(i) 5.0 x 1078 Cm fegra 1ot o1 s forpa faga foreft W& wwawr & war 2 et forett
faw T 0T ot Rye-aet 3T ARET 1.0 x 103 N/C # | 59 &1 0 a8 E
=1 faga aAmep ?ﬁgmsm%lsﬁwf?gawmwmmﬁww

q:
(A) 2.5x10 Nm (B) 5.0 x 10> Nm
(C) 1.0x10"*Nm (D) 2.0x 10~ Nm

(iv) (a)  TTSSISH TCATY] H hig Seior TRl TISH o =T S =Tl v & Frsa
ol ST el H TEHAT L T8T © | 39 Sl oh reiehdl T3]l Aol

T IRHATITR
(A) 4devr (B) 2evr

1 1
(C) —evr (D) —evr

2 4

AT
(b) YN 5.0 cm % FMHR I & 2.0 A F &0 Yarfed & & 2 | 360 a9 &

g, TR faga STTel ot afmor @
(A)  1.0x 1073 Am? (B) 5.0x 1073 Am?
(C) 1.0x 1072 Am? (D) 5.0 x 1072 Am?2

55/S/3 20
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(i)

(iii)

(iv)

E, and E, are magnitudes of electric field due to a dipole, consisting of
charges —q and +q separated by distance 2a, at points r (>> a) (1) on its

axis, and (2) on equatorial plane, respectively. Then —L s
2

1
GRS (B) N ©) 2 (D) 4

An electric dipole of dipole moment 5.0 x 1078 Cm is placed in a region
where an electric field of magnitude 1.0 x 103 N/C acts at a given instant.
At that instant the electric field E) is inclined at an angle of 30° to dipole
moment ? The magnitude of torque acting on the dipole, at that instant
1s

(A)  2.5x10° Nm (B) 5.0x 107 Nm

(C)  1.0x10"4Nm (D) 2.0 x 10-©Nm

(a) An electron is revolving with speed v around the proton in a
hydrogen atom, in a circular orbit of radius r. The magnitude of
magnetic dipole moment of the electron is :

(A) 4devr (B) 2evr
1 1
(C) —evr (D) — evr
2 4
OR

(b) A square loop of side 5.0 cm carries a current of 2.0 A. The
magnitude of magnetic dipole moment associated with the loop is :

(A)  1.0x 103 Am? (B) 5.0x 1073 Am?

(C) 1.0x102Am? (D) 5.0x 1072 Am?

21 P.T.O.



3. (a)

(b)
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(i)

(i)

(i)

(i)

Quse

iR G i TE™ar ¥ TRl ac ST I swEdfafr 1 =amen
Fhifore | foreft &7or «t* o Afia faanaet (emf) & forw =isres gmw FifsTe |

IS v, | &St AR XX Rer @ § a7 §6¢ 3.0 A 917 e
B | AT § T STER 39 R XX % U hE SRR qE
MNPS, fresht ST il ST 10 cm & 721 f8& 1.0 A &7 vafed &

W 2, W@ 2 | 39 AR o HRUT IR W @ ad A Trhid 9
gt 3N femmm 3ra Hifsiw |

y 3A
X — - X

S

>\I

1

HAYAT

TS o Terera-Trerehia ST o TR T Secid ShITSTT T it o T+
1 3TN TR | foreft Fpueelt & -3k & g Seeht sarfidig
HTEAT T HTEAH <hl reehelietal o Ul H s5sfeh ITH shifely |

forelt 220 V =1 el AT 3T ac AT 6 €1 200 § TH 20 Q0
STcRTe, 80 WF ST SR T 50 mH 3T Seh ST & | STel STl ht
HENT 39 qiae st A (IRideh) AR & S 2, Al giEfed
T

(1) S = it s

(2) Ut i afdsmen
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31. (a)

(b)
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(1)

(i)

(i)

(i)

SECTION E

With the help of a labelled diagram, explain the working of an ac
generator. Obtain the expression for the emf induced at an instant
‘4.

A long, straight horizontal wire XX is held stationary and carries a
current of 3.0 A. A square loop MNPS of side 10 cm, carrying a
current of 1.0 A is kept near the wire X'X as shown in the figure.
Find the magnitude and direction of the net magnetic force acting
on the loop due to the wire.

, 3A
X —> - X

>\f

1
OR

State Faraday’s law of electromagnetic induction and mention the
utility of Lenz’s law. Obtain an expression for self-inductance of a

coil in terms of its geometry and permeability of the medium.

A resistance of 20 Q, a capacitance of 80 pF and an inductor of
50 mH are connected in series. This combination is connected
across a 220 V ac supply of variable frequency. When the
frequency of supply equals the natural frequency of the circuit,

calculate :
(1)  angular frequency of supply

(2)  impedance of the circuit

23 P.T.O.



32. (2

(b)
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(i)

(i)

(1)

(i)

forelt Eiieiia Ul o STfvigarsh QT AT Al ol SAMehedT Fid

T fohT 31 e STdl i S | W@ ST 8 ?%ﬂﬁaﬁ?aﬁmﬁ?
U o T 39 Rrfa § suister It hifse e sifaw gfaferer 39 @
AT R |

oIS WIS ToRTor forell Ty FSTTeRR fSsH o Teh theteh WX 45° o 0T
T 3T Ll & I TS0 & Tt T STt @ | aiesford i :

o o N
(1) BIsH gl S [ 1 onlVi

)  T=a o verd 1 vadais

HAYAT

Tohdd T3/t o faadg e & Jequr & foru foret avat feramenaaTa skt aof4
e |

i faq T ST © SRIT HATER s G e (3TTeie 1.50) foret
HHAA JUT o Fereh T Rl 59 T TXd o @FIeh | 1@ § | IS It 3
Torershl e <1 o H& 3187 T, 31&T o QT ST T Rt 36
TehTL RTINS 2t STl @ o 9 3 ek okt S fciforrat g3 sht feorfa
TR o | o W S skt gl /IO 9T 45.0 om UTS ST @ | ST 5 i
BZTohT SET SRANT <kl QI ferall ST &, 41 7% gt 30.0 cm TS STell € | 5
T 3T JTd hITSTT |

P —

’,////I',vllll" ;r'llll/ﬂ
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32. (a) (1) What are the two main considerations for designing the objective
and eyepiece lenses of an astronomical telescope ? Obtain the
expression for magnifying power of the telescope when the final

image is formed at infinity.

(11) A ray of light is incident at an angle of 45° at one face of an
equilateral triangular prism and passes symmetrically through the

prism. Calculate :

(1)  the angle of deviation produced by the prism

(2) the refractive index of the material of the prism 5
OR
(b) (1) Describe a simple activity to observe diffraction pattern due to a

single slit.

(11)  The figure below shows an equiconvex lens (of refractive index
1.50) in contact with a liquid layer on top of a plane mirror. A small
needle with its tip on the principal axis is moved along the axis
until its inverted image is found at the position of the needle. The
distance of the needle from the lens is measured to be 45.0 cm.
When the liquid is removed and the experiment is repeated, the new

distance is 30.0 cm. Find the refractive index of the liquid. 5

P —

.,,///,IIIIII" "Illl/ﬂ
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33.
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(a)

(b)

(i)

(i)

(1)

(i)

5oF 0T foheg FEd § 2 SoI|M m qT ST q o foheT ot i foret
fonrar v grT form @ e T ® | 38 &0 @ e < st
Tareed o foru sisteh gmw i |

3.315 mW Tia wife o TRl |id §RT 5.0 x 1014 Hz s1afd @1
Tehaufl JehTeT 3ca—T foram T © | ufiekfora shifsTe

(1) 39 TR TS H BIH hl sl

(2) G g T SR ScafSId BIHT eht S

HAUAT

ST o SATEIAT T Iect shITST TT BTSISH LAY o SN o Higd H
nfl SHETT 6 AT hl FsTl oh [T, STk Fcq hITT |

2 s wfer ferreit st gt @ (Mo ) afterer iR |
frmne:

m ( 1éC) =12.000000 u
d
d

0

1
1
1

n) = 1.008665 u

H 1.007825 u
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(2)

(b)

(1)

(i)

(1)

(i)

What are matter waves ? A particle of mass m and charge q is
accelerated from rest through a potential difference V. Obtain an
expression for de Broglie wavelength associated with the particle.
Monochromatic light of frequency 5.0 x 1014 Hz is produced by a
source of power output 3.315 mW. Calculate :

(1)  energy of the photon in the beam

(2)  number of photons emitted per second by the source
OR

State Bohr’s postulates and derive an expression for the energy of

electron in n'h orbit in Bohr’s model of hydrogen atom.

N . 12
Calculate binding energy per nucleon (in MeV) of 6C .

Given :
12
m 6C) =12.000000 u
m én) — 1.008665 u
1
m 1H) =1.007825u
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1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them. In class-
X, while evaluating two competency-based questions, please try to understand given
answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks should
be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given
in the Marking Scheme. If there is any variation, the same should be zero after delibration
and discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators.

Evaluators will mark( v ) wherever answer is correct. For wrong answer CROSS ‘X be
marked. Evaluators will not put right (v)while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11

A full scale of marks 0-70 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books per




day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced
syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e \Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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Q. No. VALUE POINTS/EXPECTED ANSWERS Marks | Total
SECTION A vares
(A) TET +X- 38T & eI HeROT &Y W ¢ |- 1 1
(D) 45° 1 1
(A M <(A-Z)m, +Zm, 1 1
4. ©) BF'Q v 1 1
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e (FOTAY) BIS ¢d ¢ ,30 bR T & p-Theldh W
FOMAY FI ( IT FHOMcHS IIT-dTel &7 ) Teh R [Gefad
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& Glel AR TaRTad 8Iar & | | & &leil Bolehl fdehied
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e R Fea & |
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(@)
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. dee
@' = gt

aRadt faegetrerrd & HRUT AT ORI 3cqes gich B
TR &1 3R FA FAT fagcForry # aRads giar 2
HUTRT & qUT: AR gl W fdegcrordd H 5 gRade w1g!
g & | 37 faeuoe URT 3cueet AgiEar B
(b)yATSShIAd e H FeHA TN H AR HT T H TR
foham ST § 7o @8 STt & 37073 T 3eleAe IngfT @ A
aifes et & STer & pHt @ Afaer FAT FT FHIET FAFIEROT &
3R gofh aIH gefdr g1 S|

(c)3TaFd AN Pl FSHITAH ¢ STl Pl HRUT Ig ¢
3iftrprer geret A IUTEU STof & 3] AT el i e
A ¢ ToTd Bela®q 3efehl a1 aifa 7 Jefer g Sl gl

25.

AFITaf@d &1 IRForeT
(2) AR 115
OEIPEREEIGEEESI 1%

(a) ¢o =hV0
=6.63x10**x1.0x10%

=6.63x107"J
=4.14eV

(b) KE.,, =h(v-v,)
=6.63x10# [3.0x 10" —1.0x10™]

=13.26x107"J
=8.29eV

Y
Y

Yo
Ya
Y

Yo

26.

qrer H IR emf &1 IRFeIaT 3

d
o= 5

dt
= i( BAcos6) % B
dt

=%(yOnIAcos¢9)

dl
= Acosl.—
le| Eyon cos dtJ

|£| = 47 %1077 x1000 x 6 x107* x c0s 60° x 5_2
V4

=6x107° V

Yo

Yo




27.

(a) A0TT TASTT H YRT T A& Oleh Al AT T 1%
(b) &RT W 3R &1 emra 3R 3HHT YiSeehioT 1%

() Current, 1= —__ VoSNt
Z \/RZ +(X|__XC)2

ac dieedl & FAT Ad & fow feal gaolt # 9RT AT ¢
R=X, =X,

s L, Raurc Ao # gAfag & a
Z=R

V, .
3 I _Esm ot

(b) e BT T AT & gefer & Sl § o Yeyr TieRies IRy
H URT TAT |/ & 59 FROT gg & e ufoy @a fr
3MgRT o AR g e § |

gl 3R G #T gy A gefr e W ey WRT gRuy A

URT gedr § Fife LY
1

| oc=

Ad: v
A T AR A Jefr FT W Yy FuRT aRoy & arT & gefer

1
g & s X

| cv

Yo

Yo

Ya

Ya

Yo

Yo

28.

(a) frgar faaRoT g @iaar 1
(b) & SHET & STl hl &THAT & [T HaY egcdoe] il 2

(@)

—
—
—_—
—y
—
L.
wn




(b)

Ugel ol A garT gididss &efel & foiT

= EE— )
v, u f @

g o B ganr gfafard s= & fav
111y

v 1 f2

FHFIOT (1) 3R (2) FT IHT WA |
11 1

—=—+—= ——=0

u f f,

1
v

ar ot & e @ Rl Thel o & Jod AR ST A 39
du B PEE gl
———=(4

Ya

Ya

Yo

Yo

SECTION-D

29.
(@)
(b)

(i) (A) B1 only

(i) B)A,C
3gar

(C) 3 =T & Ty e EfAw

(iii) (D) 81l gelerglel

(iv) (C)100 Hz

30.

(a)

(b)

(i) (B) qd (i"‘ ])

I

(i) (C) 2

[ERN

(iiii) (A) 2.5 x 105 Nm

(iv) () 2%V

OR

5.0x10°Am?
(B)

SECTION - E

8




31. (a)

(i) ac SIS AHIRT NG
ac SlfaFer I &3fe
emf & fOIT =aas 9red &

(i) o 1 aR#T 3R fEem AT FET

N R R e

a.c SffeiT &1 ®F fafer

ST e sl T fohell Teh TAT iy &7 A Tl fogd o
el ¥ GOt fohar Sirar § aF 389 oiel alel gaohig Foidd H
qRads B § forad Forea®y 38 el F FS emf IR h &

AT equr fwggsﬁﬁm%rw
@y = BAcosat
_nY2e

dt
¢ = NBAwsinwt

& =

- _ Mol 1]
(i) 2rr
qrer I TS MN TR e
47 %107 x3x1x10x1072

F = -
27 x20x10
F = 3x107 N
g 9ol AR & gT #7 3R R §

qrer I ST SP TR e
B 47x107" x3x1x10x1072

277 %x30x1072
F, = 2x107 N

FZ

Yo

Yo

Yo

Ya




(b)

g Iof dR &1 3R e &
F=F-F =107 N

qrer X «ic &l
qrer W AT ol dR ¥ oy $r 3R BRIF ¢ |
3r2rar

(i) Tegd greehra WROT & IR FT1 HUA Yy
oo & foge &1 39ATET Y
TIRGcd & T ATk IIod el 2

(ii) (1) SIofT 3Mghy IRl 1
(2) aRgy Fr gfderear aRefod Hear 1

o frdY aRTy & IR emf &1 IRAOT IRIY F TR drel
eI Felerd H RaceT HT & & S §iell ¢ |

o ol & AT H1 ITANT- Ig IRA emf Fr gadr FeiRd
T ¢ |

o 3EYEY FIC QT A, FFIS / TAT I Tehich oS 1
IR arell R ot aRaTfore R faar Aoy I 39
gReATforeT & GRT/ 9aTied & WEr & ar IRefoerr & Hia]
qahry &

B = gnl

ARATTIRT & FoeeY Fel IahT Folard

Ngg = (n)(znl)(A)

Nep, = w,n?All

TIRFcd

I_ — N(DB
|

L = gn°Al

afg afenfosr & iy smfes gos daar @ #15 gard
T E, a9

L = /urIUOnZAI
(i) (1) 3T ol g
1
“ =

1

~ J50x10°x80x10°°

(2) ST 3Mqfct T 3MgRT IRYY T HT INGRT F TN &, dS
gfaerer = gfarer

) = 500 rads™

Y

Yo

Yo

Yo

Yo

Ya

Yo

Yo

Yo

Yo
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32. (a)

(i) AHTAGATS TUT HAGT ofEl &l HHehodall
AT fAOR A A9y e #E o1d 1
GTEeT T JTatel &TACT & AU eholeh W el 2
(i) aRercred
(1) ISH anT faTclsT 0T ST IRebcled 1
2) =T & 91 FT a1 TR 1

ar frarohy geg ard
IFRIF & faw

1. A¥edH =T

2. JfOhdH BT g
Aty sfdeT dw & fav

1. o =g

2. o ®ihd

fFe quedie &1 made amEar (mywfafess garr a9 W 3aRa
HIOT B AUT T9Fd GaRT aF IR ( YT ofH W ) HdRE T o F
3T & SRS Bl & |

(i) i+e=D+A
at D=D, , i=e
2i=D, +A
2 x45 =D, +60°

D, =30°

Yo

Ya

11




(b)

. (A+D,
sin
p 2
. (A
sin| —
2

. [60°+30°j
SIn
2

#= .(600]
Sin| —
2

7

3ar

(i) Thd B & FROT greg Rads Yot &7 98707 e &
T e F1 fgavor 2
(i) g T 39dcddish 3

(i) a WR =8l A 3T YPR Thsd § T o9 [hedR THTR
gl 3R gt & g e gt B s | B o fhemde &
TAlTR 8ok THA @I BT T 3Telihed A § |
SO AIST A W&o 3R e Just @1 deat @
& 7 |
1 1 1

(i) ?=‘”‘”{E‘R—j
36T O &7 W gl , oo
1 1 1

R = 30cm

HAISTeT 1 ®IRd gt , f = 45cm
od & GHITAA ofF HT Brhd gl

1 1 1
T, f
11 1
f, 45 30
f, =-90cm
o AST FA HT 3YANT el W

Lol L

4
Hy :g

Yo

Y

Y

Yo

Y

Ya
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33.(a)

(b)

(i)  gegadenn ST qiemT 1
Zsael aeET & AU Ut Ted el 2
(i) (1) TRTRIYSTHBICIAIS AT e oI cTeh{aT 1

(2) 9fa Az 3cafora welar fr Tear aRefod 1

() wifaela Rz & Frecy G FT GeadWeT Fad b

gegA m 3R 3MEer q F FHOT gan AfAS Fol F & A
For &1 dfswr

1 5
—mv° =qV
> q

(mv)? =2gVm

mv = ,/quV

=6.63x10* x5x10"
=3.315x10"°)

)
P
n=—
E

_ 3315x10°

T 331510 =10%s"

3gdar

(i) SR & AR X3
(i)  BTSZIolel GRATT] T ndl HET H Folocial &I Foll &
T TSR uTed e 2

(iii) SUeTFaT SldegfFerdie a1 IR 1%

Y

Yo

Yo

Y

Yo

Yo

Yo

Y
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(1) 4% & A

(i) Tl TRAT] H S Solerclel fRerd Turl emsit # fafeor

Tl 3cHiord T f9aAT IREHHUT T FohdT 2

(i)  SolFcled AMHAS & IRT AR had 3 HEAT H & TR0
Xl g 5T o foT shiofg daerenr &= h/2 &1 qoiie a[orst
8T & | S8l h Tl adie (= 6.6 x 103 Js) | 37a:
IReRHT T §U STelal 1 HIUNT FIT (L) Farfed @ |

(i) P elacisT 39 AAY &7 F 3fear@a yfafaoh Far @
cad foeT Sol arell el 7 HhAUT Y Fehcl © | S TG
VAT AT & dl U Bl 3c@fold aidT § forgdhr el IRfAS
wd A aEUnt & FeT F HR F TS gdr 2

el grsgioe wAT] A TUrRY IEwdr A gAwElT At FA S

e

3777 I 1)
STEl r o, % @eTr fr e g
. n’h’e,

" AME )

" 8n%g, N’
(i)

(1)e=gaT &afa |

Am = (6 x1.008665 + 6 x1.007825) —12.000000

Am =0.09894u

B.E.= Amx931.5MeV

=92.16MeV

Am= [6 m(;n)+6m(;H )] -m(%C)

— Eb
T Tl U FgfFerleT T = p
92.16

12
=7.68MeV

Ya

Yo

Yo

Yo

Y

Yo

Yo

Y
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2024
SUBJECT NAME PHYSICS [PAPER CODE 55/S/3]

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them. In class-
X, while evaluating two competency-based questions, please try to understand given
answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due marks should
be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given
in the Marking Scheme. If there is any variation, the same should be zero after delibration
and discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators.

Evaluators will mark( ¥ ) wherever answer is correct. For wrong answer CROSS X" be
marked. Evaluators will not put right (v)while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11

A full scale of marks 0-70 (example 0 to 80/70/60/50/40/30 marks as given in Question
Paper) has to be used. Please do not hesitate to award full marks if the answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books per




day in other subjects (Details are given in Spot Guidelines).This is in view of the reduced
syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e \Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.




MARKING SCHEME: PHYSICS(042)

Code: 55/S/3

Q. No. VALUE POINTS/EXPECTED ANSWERS Marks | Total
Marks
SECTION A
(A) The wave is propagating along +x-axis. 1 1
(D) 45° 1 1
(A) M <(A-2)m +Zm, 1 1
B?l*v
4. —_— 1 1
D) R
5. (B) Behave like a paramagnetic material 1 1
6. (D) first real and then virtual. 1 1
7. (A) 30° 1 1
8. (D) 4 1 1
0. (C) The number of alpha particles undergoing head on collision is small. 1 1
(C) Current
10. 1 1
Intensity
11. (B) increase the number of holes in the valence bond. 1 1
7., 2
12. =V,-Q 1 1
€3 '3
13 (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the 1 1
' correct explanation of the Assertion(A).
14 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 1 1
' correct explanation of the Assertion(A).
15. (D) Both Assertion (A) and Reason (R) are false. 1 1
16 (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the 1 1
' correct explanation of the Assertion(A).
SECTION B
17.
Explanation and formation of terms
Depletion layers 1
Patential barrier 1
During the formation of p-n junction due to the concentration gradient
holes diffuse from p- side to n-side leaving behind an immobile ionized
acceptor (negative charge), hence forming a layer of negative charge
(negative space-charge region) on p- side.
Similarly, a layer of positive charge is developed on the n-side of the 1
junction (positive space-charge region). This space — charge region on
either side of the junction together is known as depletion layer.
Due to the positive space- charge region on the n-side of the junction &
negative space — charge region on the p- side of the junction a potential 1
difference is developed across the junction of the two regions, which is 2

called potential barrier.




18.

Condition for experiencing no force on electron in
(@) Only magnetic field and justification Yo +Y
(b) In electric and magnetic field both and justification Yo +Y5

(a) Force on an electron in magnetic field is zero when it moves parallel/
antiparallel to the direction of magnetic field.
F =qvBsing

Hence F =0,when8=0",6 =180°

(b) Force is zero when electron moves in a crossed field of electric and
magnetic fields with condition.

Y

Yo

Yo

F.+F,=0 Yo
E
v=—
B
19 (a)
(i) Calculating e.m.f of cell 1
(i) Calculating internal resistance of cell 1
| _ &
R+r
< Y
025=—— —-————- @
12+
02=-—2— ) i
16+r
On solving eq (1) and (2)
r=4Q Y
£=4V 7
OR
(b) — ; —
Finding the magnitude of electric field 1%
Finding the direction of electric field Yo

(0,0.3m) [g,=9 uC

B, (o® 9,=Mm¢

: = ?/ (0.3m ,0)

'(,6/:_ £ oy
= kg, o 9x10°x3x10° , . 5, & npt

=—t(-1) =——(~1) =3x10°(-1)NC

E =) =g D ()
= kq 2 9)(109 X4X1076 2 2 _
E =—2(_]) =222 """ (—]) =4x10°(-])NC™
) r22( ) 03) =1 -1

Yo

Y




E=E +E,

E = JEZ +E2
E =5x10° NC™*

tan 0:ﬂ
3

f=tan™ (ﬂ

3] inclination with respect to the x-axis (in 11l quadrant).

Ya

Yo

20.

@ Calculation of critical angle 1
(b) Calculation of radius of circular light patch 1

sini, = (-.-;::1.25:%)

25r2 =16r2 +16h? h=lotm
9r? =1600

40
r=—cm
3

Y

Yo

Yo

Yo

21.

e Stating Huygens Principle 1
e Diagram 1

Huygens Principle :

Each point of the wavefront is the source of a secondary disturbance and
the wavelets emanating from these points spread out in all directions with
the speed of the wave. These wavelets emanating from the wavefront are
usually referred to as secondary wavelets and if we draw a common
tangent to all these spheres, we obtain the new position of the wavefront
at a later time.

Incident wavefront

Medium 1




SECTION-C

22. . . . o
(@) (i) Variation of electric field and justification Yo+
(i) Variation of current density and justification Yot
(iii) Variation of mobility of electrons and justification Yot
VIth the decrease In area Of Cross-Section.
I
0] - X’O , electric field increases Yot 1y
o
w 17 A , current density increases YotYa
_er
@iy “~ 7, mobility remains same Yot
OR
(b) Finding the net electric field (E) at points A,B & C 1+1+1
L E
Electric field at A( ~*)
E,=E +E, "
(2 2 30
25,02,V
.
E. =—()
%o
L E
Electric fieldatB ( ®)
E, - E +E
O = 30- a Y
=—1l+—1
2g, 2¢,
_20; Y,
&
- E,
Electric fieldat C ( )
E,=E +E,
o~ 30 &
= i+ == ()
2¢, 2¢g, A
o ~
= 2D
&y
23. . . .
Calculating electrostatic potential energy of the system 3
Electrostatic potential energy of the system :
k 1
U ='_9£h“+Qﬁ4'*q)G
12
kayd, _ 9x10° x10x107°x20x10°° 1

=20J

9x107?

o




A 10x10° x2x10°
. 4x107

A 20x10° x2x10°
r,  5x10°

U = (20 +500+800) ]

U =13201J

=500J

q1V1 =0q,

=800J

qQ.vV, =0,

Y

Ya

Yo

24.

Explanation of (a),(b) and (c) with reason 1+1+1

. de

(@ T g

Displacement current is due to changing electric flux.

During charging of capacitor, there is change in electric flux.

When fully charged the electric field does not change hence electric
flux also does not change. Hence no displacement current.

(b) The frequency of the microwaves is selected to match the resonant
frequency of water molecules so that energy from the waves is
transferred efficiently to the kinetic energy of the molecules.

(c) Infrared waves are also known as heat waves, because water

molecules present in most materials readily absorbs infrared waves and
their thermal motion increases and heat up.

25.

Calculating
(a) Work Function 1%
(b) maximum Kinetic energy 1%

@) ¢=hv,
=6.63x107**x1.0x10"

=6.63x107"°J
=4.14eV

(b) K.E,  =h(v-v,)
—6.63x10*[3.0x 10°° —1.0x10"]

=13.26x107"J
=8.29eV

Yo
Yo

Y
Y
Yo

Yo

26.

Calculation of e.m.f induced in the loop 3

E.m.f induced in the circular loop: axis
o= G “

s N
- %(BACOS@) \} :

d
:E(,uonlAcosH)

Yo




dl
= AC0SH.—
le| (yon cos dtj

|8| = 47 x107" x1000 x ExlO’4 xc0s60° x

Vs 072

=6x10° V

Yo

217.

(a) Finding instantaneous value of current in series combination 1%
(b) Effect of frequency on current and justification 1Y%,

V V, sin wt
(a) Current, l=—= - L -
Z \/R +(X = X¢)
For the same source of ac voltage and current is same in all the three cases.
R=X, =X,
When L, R and C are joined in series
Z=R
Vv, .
Hence , Instantaneous current, | =Esm ot

(b) If frequency of the source is increased, current in pure resistive circuit
will remain same as ohmic resistance is independent of frequency.

Current in pure inductive circuit will decrease as
X, o<V
1
S0, loc=
v
Current in pure capacitive circuit will increase as

| cv

Yo

Y

Ya

Yo

Ya

Y

28.

(BN

(a) Draw the intensity distributions current
(b) Deriving the relative for power of combination of two lenses 2

@)

=a EL

Lot

It Vil SETeen

(b)

For the image formed by first lens A, we get

Yo

6




1 1 1
S-c=2 -0
v, u f
For the image formed by the second lens B, we get
1 1 1
e
v v, f,
Adding egs (1) and (2) we get
1 1 1 1
== -———(3
v u f f ®

If the two lens system is regarded as equivalent to a single lens of focal
length f, we have

1 11

So2=2 (4

v u f

From egs (3) & (4)

1 1 1

_:_+_

fof f,

As, P=—
f

Hence, P=PF+P,

Yo

Ya

Ya

SECTION-D

29.

@)

(b)

(A) Bronly

(i) (B) A, C
OR

(C) unidirectional with ripple

(iii) (D) holes, electrons

(iv) (C) 100 Hz

30.

(@)

(b)

() @) 990D

I

(i) (C) 2

[

(i) (A)2.5x 105 Nm

(iv) () 2%V
OR

5.0x107° Am?
(B)

SECTION - E

31. (a)

Q) Labelled diagram of ac generator
Working of ac generator
Obtaining expression for e.m.f

(i) Finding magnitude of force and direction

N R e




(b)

Coil Axle

Slip
rings

Alternating emf

Carbon
brushes

Working of ac generator
When coil is rotated in a uniform magnetic field with a constant angular
speed m, magnetic flux through it changes. As a result, an e.m.f is induced
in the coil.
Flux linked with the coil at any instant ‘t’ is

@, = BAcosat

_n3%
dt
¢ = NBAwsSinwt

Hol 1l
i "7 o
force on arm MN of the loop
B 47 %107 x3x1x10x1072
- 27x20x1072
F = 3x10" N
Force is directed away from the wire
Force on arm SP of the loop
4z x107 x3x1x10x107
- 27x30x1072
F, = 2x107 N
Force directed towards the wire
Net force on the loop
F=F-F =10" N
Net force on the loop is away from the wire.

Fl

F,

OR

(i) Statement of Faraday’s law of electromagnetic induction %
Utility of Lenz’s law Yo
Obtaining expression for self inductance

(if) (1) calculating angular frequency
(2) calculating impedance of the circuit

RN

(i) The magnitude of induced e.m.f in a circuit is equal to the time rate of
change of magnetic flux through the circuit
Utility of Lenz’s law
It give polarity of the induced e.m.f .

Y

Ya

Yo

Yo

Y
Y

Yo

Ya

8




Expression for self inductance
Consider a long solenoid of cross-sectional area A and length I, having
n turns per unit length. If I is the current flowing in the solenoid,
magnetic field inside the solenoids is
B = gl
Total magnetic flux linked with the solenoid is
Ngg = (n)(z,n1)(A)
N, = u,n*All
Self inductance
I_ _ NgDB
I
L = ynAl

If solenoid is filled with a material of relative permeability # then
L = gun’Al
(i) (1) Resonant angular frequency is
1

),
0 JLC

1

~ /50x10x80x10°°
(2) When frequency of supply is equal to natural frequency of the
circuit

@, = 500 rads™

Z =R
Z = 20Q

Ya

Yo

Yo

Yo

Yo

Yo

Yo

Yo

32. (a)

(i) Two main considerations for designing objective and eye piece 1

Obtaining expression for magnifying power of telescope 2
(i) Calculating

(1) Angle of deviation 1

(2) Refractive index 1

Two main considerations
Obijective should have
1. Larger diameter
2. Larger focal length
Eye piece should have
1. Smaller diameter
2. Smaller focal length

oo Objective ———fg—>I

Eyepiece

= \ F—fel
—___|ol ‘ I E|
0
e

A T T -~

x
v

S

Magnifying power of telescope

Magnifying power is the ratio of the angle § subtended at the eye by the

final images to the angle a which the object subtends at the lens or eye
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(b)

a f, h f,
(i) i+e =D+A
at D=D, , i=e
2i=D,+A
2 x45=D, +60°
D, =30°

. (A+D,
sSin
2
H (A
sin| —
2

_ [600 +300]
SInf ————
2

#= .Eeo"j
SIn| —
2

_\2

OR

(i) Describing activity to observe diffraction pattern
due to a single slit
(i) Finding refractive index of the liquid 3

N

(i)  We hold two razor blades in such a way that their edges are parallel
and with a narrow slit in between. Keep the slit parallel to the
filament of electric bulb, right in front of the eye.

A diffraction is seen with its bright and dark bands.

1 1 1
.. —=(u-)|=———
Gy 7 ){Rl Rj
Focal length of convex lens,
i=(1.5—1) i1
30 R (-R)

R = 30cm

focal length of combination, f = 45 cm
focal length of plane concave lens of liquid.

f,=30cm

1 1 1
[
1 1 1
f, 45 30
f, =-90cm

Using lens maker’s formula

1]
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33.(a)

(b)

(i) Defining matter waves
Obtaining expression for de- Broglie wavelength
(i) (1) Calculating energy of photon
(2) Calculating number of photons per second

N N

(i) Wave associated with a mass in motion is called matter wave.
Particle of mass m and charge g gains energy in the form of kinetic
energy.

1 2
—mv° =qV
> q

(mv)> =2gVm

mv = ./2mqv

Accordingly to de-Broglie relation

A=
mv

h

«/quV

E=hv
=6.63x10* x5x10*
=3.315x107J

A=

(i) (@)

)
P
n=—
E

_ 3.315x10°

T 3315x10°° =10%s™

OR

(i) Bohr’s postulates %2 x 3
Deriving expression for energy of electron in n'" orbit of
hydrogen atom 2

(if) Calculating Binding Energy per nucleon 1%

(i)

Bohr’s Postulates

(a) Bohr’s first postulate was that an electron in an atom could revolve
in certain stable orbits without the emission of radiant energy,

(b) Bohr’s second postulate defines these stable orbits. This postulate
states that the electron revolves around the nucleus only in those
orbits for which the angular momentum is some integral multiple of
h/2 = where h is the Planck’s constant.
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(c) Bohr’s third postulate states that an electron might make a transition
from one of its specified non-radiating orbits to another of lower energy.
When it does so, a photon is emitted having energy equal to the energy
difference between the initial and final states.

Derivation
Total energy of electron in the stationary state of hydrogen
atoms is
2
E=-_°
37/7: (R 1)
Where rn is radius of n'" orbit
_ n’h’g,
" 7me’ (2)

Substituting eq (2) in eq (1)
_ me’
" 8n%e, N’
(ii)
Mass defect, Am = [6 m(on) +6m(;H )] —m(5C)
Am = (6x1.008665 + 6 x1.007825) —12.000000
Am =0.09894 u
B.E.= Amx931.5MeV
=92.16MeV
e _E
Binding energy per nucleon, ™ A
- 92.16
T 12
=7.68MeV
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